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DARM Optical Plant TF MCMC Fit - Mar 18, 2019

0 mins from SR3 heater on

DARM Model
Gain = 3.28e+06 cts/m Pole = 424 Hz Delay = 4.62e-05
Spring Freq = 2.61e+00 Q = 2.93e+01
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DARM Optical Plant TF MCMC Fit - Mar 18, 2019

20 mins from SR3 heater on

DARM Model
Gain = 3.30e+06 cts/m Pole = 413 Hz Delay = 3.53e-05
Spring Freq = 2.05e+00 Q = 4.65e+01
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DARM Optical Plant TF MCMC Fit - Mar 18, 2019

40 mins from SR3 heater on

DARM Model
Gain = 3.29e+06 cts/m Pole = 419 Hz Delay = 4.22e-05
Spring Freq = -2.99e+00 Q = 1.81e+01
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DARM Optical Plant TF MCMC Fit - Mar 18, 2019

60 mins from SR3 heater on

DARM Model
Gain = 3.29e+06 cts/m Pole = 422 Hz Delay = 4.52e-05
Spring Freq = -3.56e+00 Q = 1.75e+01
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DARM Optical Plant TF MCMC Fit - Mar 18, 2019

80 mins from SR3 heater on

DARM Model
Gain = 3.31e+06 cts/m Pole = 423 Hz Delay = 5.01e-05
Spring Freq = -3.76e+00 Q = 3.74e+01
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DARM Optical Plant TF MCMC Fit - Mar 18, 2019

100 mins from SR3 heater on

DARM Model
Gain = 3.33e+06 cts/m Pole = 415 Hz Delay = 4.27e-05
Spring Freq = -3.74e+00 Q = 7.55e+01
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DARM Optical Plant TF MCMC Fit - Mar 18, 2019

120 mins from SR3 heater on

DARM Model
Gain = 3.31e+06 cts/m Pole = 417 Hz Delay = 4.48e-05
Spring Freq = -3.65e+00 Q = 5.09e+01
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DARM Optical Plant TF MCMC Fit - Mar 18, 2019

140 mins from SR3 heater on

DARM Model
Gain = 3.34e+06 cts/m Pole = 416 Hz Delay = 4.93e-05
Spring Freq = -3.76e+00 Q = 2.25e+01
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DARM Optical Plant TF MCMC Fit - Mar 18, 2019

160 mins from SR3 heater on

DARM Model
Gain = 3.34e+06 cts/m Pole = 412 Hz Delay = 4.44e-05
Spring Freq = -3.49e+00 Q = 8.35e+01

100 101 102 1030.80

0.85

0.90

0.95

1.00

1.05

1.10

1.15

1.20

M
ag

R
es

id
u

al
s

Residuals

100 101 102 103

Frequency [Hz]

−150

−100

−50

0

50

100

150

P
h

as
e

[d
eg

]

100 101 102 103

Frequency [Hz]

−10.0

−7.5

−5.0

−2.5

0.0

2.5

5.0

7.5

10.0

P
h

as
e

R
es

id
u

al
s

[d
eg

]



100 101 102 103106

107
M

ag
n

it
u

d
e

[c
ts

/m
]

DARM Optical Plant TF MCMC Fit - Mar 18, 2019

180 mins from SR3 heater on

DARM Model
Gain = 3.32e+06 cts/m Pole = 421 Hz Delay = 4.92e-05
Spring Freq = -3.46e+00 Q = 3.76e+01

100 101 102 1030.80

0.85

0.90

0.95

1.00

1.05

1.10

1.15

1.20

M
ag

R
es

id
u

al
s

Residuals

100 101 102 103

Frequency [Hz]

−150

−100

−50

0

50

100

150

P
h

as
e

[d
eg

]

100 101 102 103

Frequency [Hz]

−10.0

−7.5

−5.0

−2.5

0.0

2.5

5.0

7.5

10.0

P
h

as
e

R
es

id
u

al
s

[d
eg

]



100 101 102 103106

107
M

ag
n

it
u

d
e

[c
ts

/m
]

DARM Optical Plant TF MCMC Fit - Mar 18, 2019

200 mins from SR3 heater on

DARM Model
Gain = 3.34e+06 cts/m Pole = 401 Hz Delay = 3.33e-05
Spring Freq = -3.41e+00 Q = 1.75e+02
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DARM Optical Plant TF MCMC Fit - Mar 18, 2019

220 mins from SR3 heater on

DARM Model
Gain = 3.29e+06 cts/m Pole = 425 Hz Delay = 4.70e-05
Spring Freq = -3.10e+00 Q = 2.46e+01
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DARM Optical Plant TF MCMC Fit - Mar 18, 2019

240 mins from SR3 heater on

DARM Model
Gain = 3.27e+06 cts/m Pole = 429 Hz Delay = 4.59e-05
Spring Freq = -2.16e+00 Q = 1.67e+01
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DARM Optical Plant TF MCMC Fit - Mar 18, 2019

260 mins from SR3 heater on

DARM Model
Gain = 3.28e+06 cts/m Pole = 424 Hz Delay = 4.08e-05
Spring Freq = 2.04e+00 Q = 1.78e+01
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DARM Optical Plant TF MCMC Fit - Mar 18, 2019

280 mins from SR3 heater on

DARM Model
Gain = 3.28e+06 cts/m Pole = 427 Hz Delay = 4.26e-05
Spring Freq = 2.48e+00 Q = 4.39e+01

100 101 102 1030.80

0.85

0.90

0.95

1.00

1.05

1.10

1.15

1.20

M
ag

R
es

id
u

al
s

Residuals

100 101 102 103

Frequency [Hz]

−50

0

50

100

150

P
h

as
e

[d
eg

]

100 101 102 103

Frequency [Hz]

−10.0

−7.5

−5.0

−2.5

0.0

2.5

5.0

7.5

10.0

P
h

as
e

R
es

id
u

al
s

[d
eg

]



100 101 102 103106

107
M

ag
n

it
u

d
e

[c
ts

/m
]

DARM Optical Plant TF MCMC Fit - Mar 18, 2019

300 mins from SR3 heater on

DARM Model
Gain = 3.28e+06 cts/m Pole = 422 Hz Delay = 4.14e-05
Spring Freq = 3.06e+00 Q = 1.71e+01
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DARM Optical Plant TF MCMC Fit - Mar 18, 2019

320 mins from SR3 heater on

DARM Model
Gain = 3.29e+06 cts/m Pole = 425 Hz Delay = 4.54e-05
Spring Freq = 2.34e+00 Q = 2.25e+01
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DARM Optical Plant TF MCMC Fit - Mar 18, 2019

340 mins from SR3 heater on

DARM Model
Gain = 3.28e+06 cts/m Pole = 424 Hz Delay = 4.17e-05
Spring Freq = 3.07e+00 Q = 5.73e+01
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